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a) Determine the transfer function V/V;. Hint: Use a Thevenin equivalent to
reduce the two R's to a single R.
b) Plot [V,/V;l versus .
c) Find the cutoff frequency, w,.
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(Recall that Vo =7V

Ry = R seen Looki,hﬂ ento
with Vi =0V = wire.)

Now we add <*the

Rrin= R\\R2
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We AransSorm to +the s Aomain-:
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We use +the voH:aﬁe—A\vHAer formula for H(2):
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b) For w=0 we have
H(:\O‘)= Rz ____._..__._.\ = &z__ L
R+Rz 1+ Ry R4Rz |+ e
:)'O-L
H(JO\ = Rz .6 = O
Ry\+Rz2
For W-ew we have
R\'t’ Rz 14 R'\-h R|+R2. i+ 0O
J.M.L
HQGw) = Re = 24k = 2
3

RitR2 Lak+2.4K



The value of IHCQ\: Ra \
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We observe +that +the Rz  cancels out
R,+R2
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quinﬁ this the same problem as fé/w{inj
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For “his Filter;, we have H'G)= sSL =
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We now find wa for this Siltter:
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